T FEE BAUTRIEN—Y mEHESETERRE (—REEVRARR)
1 B B B ARk

W 5% % 1E5E A =R (] 4 A 54 6 A 7 8 8 A 9 A 10AH 11H8 124 18 2 A 3 A
—BEEY (RPOTH) HHIE t /A8 1,154.56 | 766.08 033.84 |1,457.40| 192.04 0. 00 333.24
e PRBEH R R EE 800°C Ll E °C 966 975 972 964 960 968
= ECABAONAREE 230°CLLF °Cc 175.8 188.9 181.1 193.5 193.3 165.0
AR O—FbRFEE| 1hF#100ppmil F ppm 4.1 4.7 2.0 1.4 2.5 0.0
—BEEY (KOTH) BRI t /B 0. 00 1,217.94 | 259.87 | 114.77 | 1,446.71 | 1,335.66 | 889. 06
=T PREBEH R B E 800°CcLL °C 959 962 947 946 958 952
= ECLABAOBHAREE 230°CLLF °C 181.8 192.9 170. 1 192.6 200. 0 199.5
BHRPO—FERFEE | 1hF#100ppmil F ppm 3.3 4.7 0.1 0.4 0.3 0.0
Bit |—BEEY (BROTH) HHE t /8 1,154.56 | 1,984.02 [1,193.71]1,572.17] 1,638.75 | 1,335.66 | 1,222.30 | 0.00 0.00 0.00 0.00 0. 00
MREAHREE, ECABAOEE. HFARPO—BIERFZRELERRZFOE-O 1MADTEHEELTLET,
2 BARBIEMERE
hEE% % A A 4 A 5A 6 A 7 A 8 A 9 A 10A 118 12A 1A 2 A 3 A
BER 30H 6H 18
AIEFERNAFGoNT-H 5827H 6H27H 8H827H
1258 HE B
_ — Nm3/h <0.012 <0.013 <0.013
= by
155 BBy 11.5KLLTF K& <0. 01 <0. 01 <0. 01
ZFZRIEY 250ppmLL T ppm 93 68 140
(XL CA 0. 15g/Nm3 g/Nm3 <0. 003 <0. 009 <0. 003
_I&{EKE 700mg/Nm3 mg/Nm3__ 2.7 | <9 4.5
XEHRBIEY - IEVWCA - BIEKRIZOWTIE, BERESICBRELTSEoNERETT,
hEE% BIE B 4 A 5A 6 A 7 A 8 A 9 A 10A 11KA 12A 1A 2 A 3 A
2 51F HE R 9H 26 H 158 198
AEHERENBONI-H 7B178 9898 | 108288
g5 HE i
HRERBEY — Nm3/h <0.011 <0.014 0.056 <0.014
11.5KLUT KB <0.01 <0.01 <0.01 <0.01
EXREBILY 250ppmLL T ppm 110 54 82 130
(FLCA 0. 15g/Nm3 g/Nm3 <0.003 <0.009 <0.003 <0.003
_IB1EKHR 700mg/Nm3 mg/Nm3 |11 <9 12 6.0
XEZRBIEY - IEVCA - BIEKRIZIOVWTIE., EBERESICHREL TSoNERIETT ., X&xh, BEOROIEEIF HEXRGFEZHODLLET,
3 SAAXIEEE
. BER R6. 6. 26
i A fEE NS b T-H R6.8.15
o = HEf HE ERbd
15k FAXXL VERE Ing-TEQ/Nm3LAF | ng-TEQ/Nm3 00019
- BIER R6. 6. 6
e BIEEENEON-H R6.8.15
o = 1E5E HE B
2B TRy BEE | TneTEO/NmECE | ne-TEQ/Nm3 0.0030
4 PBARMIEBEEE GASEICHEBELLZEVDCAZRELEA
| R ER 3 i B BEL-H 4 8 5 A 6 A 7 A 8 A 9 A 10H 111 12H 1A 2 A 3 A
BE A R ARG EE R % L&gzz 6 10,24 | 1,15, 22
1547
R BRI 2ER-1E | 8’2‘95' 221 690 10,24 | 1,15, 22
BEH R AR ER R = 8,20, 27 3 12,26 2.16,30 | 7,21,24
254F
AR 1 ERIXIE 2:B/EIZ1E 8,20, 27 3 12,26 2,16, 30 7, 21




